cos@=aeb/(|alllbl)| |comp,a=||alcosd=a-b projba:(é-b)b
Area of a parallelogram = [lax b || || Volume of a parallelepiped = |a e (b xc) |
Equation of a line: Equation of aplane:ax+by+cz+d=0
r=n+t(,-n)=r+ta also: [(F,—F)x(F,—F)]e(F—F)=0

dr(s) _ dr ds Length of acurve : s = _[tzl r'(t)[dt
dt  ds dt -
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_ ~ dv = - ~| |~ dT/dt ~r'(t) The Binormal
dt)=x’N+—T=aN+a,T| [N=—n—||T= I
0=+ Ve | dT/dt|| Ireml] (B=TxN
dv _|lveal| 2 _|lvxal . B
T = = N = = V=ai—+]—+Kk—
dt vl Iv] oy
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Equation of Tangent Plane: |A O(I’ -T ) 0, N,=VFatP| |W = I Fedr
C

= unit vector
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equation of normal line to a surface: i, x(F —7,)=0, fi, = VF at P

ICF(x,y)ds=j:F(f(t), gOWIF'TE+[g'T dt =_':F(x, f(X)W1+[F'] dx

Fedr = [[ (curl F)efds ﬁs(lfoﬁ)d8=”jD(div F)dV § [Pax-+Qay]=[[. [@—%’]dxdy

- HID xp(x.y. 2)dv {lm =_mD o(x,y,2)dVv |1, =“ID(y2+22)p(X, y,2)dV;

m

X1

X=rcosé, y=rsing; z=z; r=+/x*+y?, d=tan*(y/x) J(“’V):Z?:\)//))

X=psingcosd, y= psingsingd, z= pcosg, dV =r drdo dz
p=AX+y2+2%, O=tan’(y/x), @=tan (yx*+y?/2)||dV = p’sing dpdgdo




